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Instructions for Candidates :
sEl & R fde

(i) Write your Roll No. on the top immediately
on receipt of this question paper. '

T UST-UF & W B IR R MY 9 19
U H{eR o |
(ii) Answer may be written either in English

or in Hindi; but the same medium should
be used throughout the paper.

T U-UF bl Ia< ofush ar B R uew
wor § Gfte, AfeT @l SO o & A |
BIF =R | ,
(iii)Use of simple calculator is allowed.
AT Bepaes B T FT Tqha |
PO,
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- (b)

(c)

(iv) Show all workings clearly as part of the -

answer. .
JoUh AT B IER AR awiE )

Answer all questions. Including question
no 1 is compulsory.

g‘fﬁnﬁf%wﬁﬁmﬁwﬁ@r 1 et
| | ~

Explain the ‘Métching Principle’. When the
revenue is said to be recognised ? 4
el (Matching) Rysrg =1 aviw wifm
DS ASTE T T Har S 7

What is meant by International Financial
Reporting Standards (IFRSs) ? Explain the
need for IFRSs. ' v ’ 5

SIS foriE e A (IFRSs) & =r
AMWE % ? IFRSs a5 ofasaswar &1 qoi
HIFTT | .
Calculate the value of closing inventory, Cost -
Of Goods Sold and Gross Profit according to
FIFO and Weighted Average Method on
March 31, 2017 : » - B

AT S |hel @9 T%o Mo THo affo
= W AR A 31 T, 2017 @l wifka
T 79 Re Mo ¥




e

March
ref
01 Stock in hand
kU» B H @Y
07 Purchases
aT
10 Sold
=
12 Sold
S
15 Purchased
CRE
25 Sold
o T
30 Purchase returns
gl A
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500 units @ X 10 per unit
500 =zw=al @ 10 3 iy s

- 7,500 units @ I 12 per unit

7,500 sl @ 123 s e
6,000 units @ I 15 per unit

6,000 T @ 153 T EHE
1,200 units @ T 18 per unit
1,200 =H=ar @ 18 % Ui 33
5,000 units @ I 13 per units
5,000 Al @ 13 3 9fT 318
3,500 units @ I 23 per unit

3,500 zHEET @23 % 9fq 36

500 units (out of goods

purchased on March 15)

500 gehTEal (15 A B TS T
" | )

3 PO
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2.

You are required to prepare Tfading and Profit

‘and Loss Account for the year ending March
31, 2017 and Balance Sheet on that date from

the following Trial Balance after making the
necessary adjustments : 0

31 7=, 2017 & @< gC o & R ar-ar

gl SR I R W gaa-uw e R ™

9T § §9@ ¢ :

‘Particulars ; Debit (3) Credit (?)’
fazor Sfge E T

Stock (as on April 1, 2016)  5,00,000

=y (1 od, 2016)

Purchases and Returns  30,00,000 50,000
Sales and Sales Returns 60,000 42,00,000 [

Rt ol Rl b aroed \ |

Cash in hand 3,50,000 .....

o

T Fepdl

Capital = o . - 10,00,000

R
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- Rates and Taxes 45,000 ' s imirnsees:
D_rawin‘gs. 1,60,000 - isee
W s
. Salaries 255000 - riae.
B
‘: Insurance 10000 o
'EﬁT-TT | :
" Printing and Stationary 15,000; Wt et L
o ot R
Advertisement 80,000 ..o
e
Car '5,09,000‘ ..........
G
' Furniture Sooth L
| Discounts 40,000 60,000
ks
5 BT O




oo

~ Carriage Ifnﬁward':' g e

000

8,00,000 °

? 1 45 OOO

(‘11) Salar1es outstandmg
< 15 000

erammaaa%q
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orth 40,000 to pe written off.

(ii1) Bad Debts W
40,000 3 T Rt © )

o &
(iv) Insurance prepaid 1s 7 25,000.
J{\éﬁ S 3 25,000 \ ,
v) Prowsmn for Bad debts is to be created at ;
- 5% of Sundry Debtors. ; ‘ ,
@eﬁmaﬁfmﬁmﬁwwﬁ ar 5%
sl 4 -
' ' (vi) D_epreciate Furniture by 10% p.a- and Motor
E Car by 20% p-2- . T
| R (feree) FHEC o 10% SRE ST |
ﬁ—aamqf%%q\%ﬂﬁ?m%\
oR o
\ areral
W -
You are presented with the following Receipts
and Payments Account for the year ending 31°
December 2016 : ;
»31@@1,2016 o 3o A e A T
e FEtAEd fegr T T
7 - pma




 Receipts T g PaYmenf$

e wmw

Wbl L e A

2016400000

2015 8

_investments 20,000

1201

Balance b/d 20,000 ~ Salaries 3,00

Subscriptons ~ Stationery 80,000
2017 16,000 Telephone 12,000

Rent 15000,

Receipts from 50,000 Furnituré‘f[l
sportsimeet .« EETﬁErT '

Interest on Balancec/d 54,000

536,000  5,36,000
& e
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The following additional information is

available :

"()

There are 450 members The annual
subscription per member w1, 000 At the
beginning of 2016, 4 9 000 was in arrear for
2015.

mﬁm%o%mﬁzﬁwqﬁw

1ooo%mm%|2016%wﬁ 2015

& forq @Brar 9,000 X A | |
Stock of stationary (opening) was % 3,500 and
closmg was. ? 5, 000.

z%aﬁfrasrzéﬁs (sIrefEsTEn) 3500% af?ﬂaqﬁm
5,000 ¥ AT

At the end of 2016, rent for 3 months was

prepaid. (Monthly rent 31,000)
e 2016 & ofd H 1,000 3 ghdew o |

(s Rt 1,000 @ )

9 . , P.T.O.

L




=

gd)

- &Were outstandlng

S

 Investments.
. yéar‘rymg&ntefestﬁ@f :
2331 12.2016 i fafrET
QT T 6% gﬁaﬁf ?‘"

e

Expenses

- ”4(e) The bu11d1ngs stood’ in th

< 20,00,000 and it

epreciation at 5% p

‘"10‘

\‘~s Upkeep of lawn: . 60

E‘Tf:f 35[ ?ZQ{'@Tq".' B

SiEl €r!4 oo ooo % aﬁt a=r

o write off

0,00,000 %
e ol

we ¢Jz;4-,roo,ood7 ,
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You are required to prepare Income and

Expenditure Account for the year ending 31
December, 2016 and a Balance Sheet on that
date. =~ - 10

aﬂqﬁaﬂﬁm%ﬁﬁmmmmmlal ‘
e, 201631%@?3@%%qta§a=f—qsr%ﬁ“
T |

Geeta purchased 5 machines from X Ltd. On
1-1-2015 on hire purchase basis. Payment is

to be made ¥ 2,00,000 down aynd\4 equal half-
yearly instalments of ¥ 2,00,000 each together

with interest @10% p.a. She paid two
instalments on time but could not pay the

third instalment. The vendor took back

possession of two machines on her failure to
pay the instalment on time adjusting these
against the amount due. It was agreed to value
the two trucks at 30% less than cost. Geeta
charges depreciation @ 20% p.a. on

~diminishing balance method and closes her

books on 315t December. Show the amount of
interest included in each instalment and

- prepare Machine account and Hire Vendor

account in Geeta’s books up to year ending
December 31%, 2016. 10

i .
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A s i
e a@ﬁ o T 2,00,000

_iﬁvﬁ%’%ﬁmnm%%m%ﬁqgﬁﬁma_

: Armt sells goods on hlre purchase at cost + 50%

%’qq—&rﬁfq_{_

ferer: 10%21%&'{11?%1311%%@%%»

aﬁnazﬁwﬁaﬁéﬂéﬁsqsﬁﬁf%wﬁke

+ 30% = T & P s e A R
_;i’n%aéa%arﬁqzangq?;
,asf 31 Wﬁm@w%,ﬁ
,ae:r i%mtn ﬁ-;sm L ﬁ V=ﬁaT
.31 ﬁ?’l"%ﬂ' 2016 %'él'ﬁf%

» 'OR

You are glven the followmg 1nformat10n

Ii IEI % i%(lql Eb_q Cl@i?l a’ +5.% & T _a. qra
am ;;g,; %TQ Tﬁ?ﬁf fe,w'%ﬁga % ,

\ :

12
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Stock with customers on 1-1-2016 ¥ 24,000

11-2016 B IEF B R T

Instalments due, customers '

paying on 1-1.2006 ¥ 3,000

1-1-2016 epren e ST ITeh 3 orar f

‘Transactions durin.g‘the year :
af & S AR

(i) Goods sold on Hire Purchase % 1,80,000

(ii) Cash collected | - o ¥ 1,90,000
(iii). Lo ctalments that fell due  22,00,000
during the year .

of & A Reedt § RroEe

13 | - PAO
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,‘One custcmer to whor sold for

Calculate the profit of the H1re Vendor Show' :
your workmgs clearly. '

. afpee @ @ W RaET W A R
15 fwER, 2016 & @@ 6 FRE wHET

Wﬁa%maﬁmﬁlmmm
‘aarw—gwmhaﬁu,‘k

. . Gupta & Sons, De1h1 has a b an

 25% which is the selling pr1ée cf thejbranch
‘From the following, prepare Branch Stock

' 2016

3 6,000 to be pald‘
Z 600 each,‘pai ntson t
not pay thereafter on December 15
the 6™ instalment was due and defaulted the™
TV was repossessed and valued at ¥ 3,500.

10

@mmﬁoaﬁoﬁ 6000’6 :
I 10Wﬁsﬁﬁ6ooiaﬁrm

W@ﬁaﬁmaﬁﬁmﬁmxﬁoaﬁ%
a‘ﬂqﬁaﬁrssooiaaa%nél .

Bulandshahar Goods are inv

Account, Branch Debtors Account, Branch
Cash Account and Branch Profit and Loss
Account for the year endlng 31St December, -

14

: ’-«»‘g




~ Balances ason
January 1, 2016

i s, 2016 F1 I
Branch Stock at Invoice Price
g e A T T
Branch Debtors

e w .

1 "Braﬁc’h Cash .

1 @ Transac'vtio‘n}s‘ durin‘g 2016

2016 & & T &R

GOods"invoicéd to Branch

5

05,000
85,000
5,000

3,35,000

PT.CO



. at branch

- Cash expenses at branch

?TTQT ':R' W a:m' ,
o 'D1scount allowed to branch

" debtors

.; arraT %ﬂaﬁf & § ’1%

iogt .

' Geods returned by branc 1

o fto head ofﬁce

Cred 1,75,000
ams'fr w G%TR' =T s f%m

- Cash sales at branch

amww%rﬁ

‘Cash I‘CCClVCd from debtors

: e-mﬁa .




Nofmal loss of stock at branch ; ‘ 1,000‘
e ¢ T A A
~ Balance as on 31st December, 2016 :
~ 31 R, 2016 F & A T A9
Branch stock v o ‘ 3 76,000
T &b |
Branch Debtors - - . '
QT AR
Branch cash ‘ © ' 20,000
QIRAT +Tehal ‘
OR
sreraT

® A Delhi firm has two branches - one at Agra
and the other at Meerut. The branches main-
tain their own books of accounts. For the year
ending December 31, 2016, the Agra Branch
showed debit balance of ¥ 31,450 and Meerut
Branch a debit balance of ¥ 51 ,000 before tak-

ing into account the following information :

‘ 10
17 i RIO
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| o el A aaét
; R R ST T 3

_ 131%@?2016@%@;

o e (3Fe) dge ¥ 31,450 K AXE |

o (%%'E) H@F‘T‘r ?51000 o7l TEY TEA "

(a) Goods valued at T 3,000 were transferredv : :

from Agra Branch to Meerut Branch under»

- 1nstruct10ns from H. 0. g
e orfr & one & ST S & AT H
awm S sﬂ@r EFBT 3g 00 »
e (b‘)-‘ The Agra branch collected 3 ’3 500 from an
e Agra customer of the H. 0. _
ST mﬂm'% @mﬂxé%nﬁscwﬁmar%'qmm
,Wmaﬁﬂssooz e e
(c) The Meerut branch pald d 5,000 for goads !
| purchased by H.O. in Meerut. :
e g T A%E B He pria A
e Sooorrrrermr WWWl

g
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(d)

(e)

(f)
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% 6,000 remitted by the Agra branch to H.O.
on December 29" 2016 were received on
January 37 2017 by H.O.

ST ATET BT I HEed i 29 REsy,
2016 @ 6,000 T & WX ¥ T G
3 SHedl, 2017 & 9T 84 |

Goods sent by‘ H.O. to Meerut branch during
2016 were in transit on December 31, 2016
to the extent of ¥ 4,300.

2016 & 3F UUN HET F G AE

ST W AST T oS 31 e, 2016 %

4,300 X qrd & fRar 1ar on|

The Agra branch showed a net profit of
? 5,400 and Meerut branch a net loss of
% 2,600 for the year ending December 31,
2016. Write up the two branches accounts
in the H.O. books.

ST TG 1 & A9 5,400 F o 3% 7S
T FH Y= B 2,600 T, 31 RE=R, 2016
g¥ & oI TH o971 HUTH HEAET B JER H

T ATl $ @ "9y |

19 PTO
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5. A, B and C had the

. Liabilities ¥

- geafkEr

Assets ?l_

Creditdrs 40,000

BankLoan =~ =4 &0

(5 =) .
(secufcd on 15:,000

Loan from A
‘Capital

accounts:

A 20,000

Fixed Assets 40,000 -
Debtors 24,000
‘Stock

Cash
Profit & Loss 30,000
Accountv_. . ¥
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B 20,000
q
. C 10,000 . 50,000
H,
1,15,000 1,15,000

Stock realised ¥ 10,000 and Fixed assets and
debtors realised T 45,000 in all. The expenses
of realisation amounted to ¥ 2,000.

Wi ¥ 9« g8 10,000 T SR Rex aeafmi e
e | O gU HA 45,000 X | g @9 ¥
2000 % |
A cannot bring any further cash. B had
private assets of ¥ 8,000 and his private liabili-
ties amounted to ¥ 6,000. C was able to pay
- only ¥ 4,200. The partners shared profits and
losses in the ratio of 4:3:3 for A, B and C
respectively. You are required to close the
“books of the firm by preparing the necessary
ledger accounts.

To HIEl Fhal @9 H ST9%d (&l 81 o & Uy
8,000 ¥ & foon g=afRmEr off 1 ofX <t @ fosh
3Tar 6,000% &1 T Baw 4,200F 39 F guef
AT | WIHERT &% & A9-81 & AGA 4:3:3 &7 1
kmaﬁm%iﬁswxﬁgﬁ%waﬁaﬁtaﬂmw
T g8 @I SIS |

21 P.T.O.
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:‘X Y and Zwere ‘

and losses ~

as—g—a”mw@w s
5:312 ¥ o sq wrrqvf ﬁrﬁ: k2l
qsrﬁwrexr

:'Lzablht:es ,?r . ,_";Assets . T

’,Credit,brs - \4,0_0,;000:; fFigéd‘,Ass'et,s\‘ -
Reserve Fund 90,000 \"’Débtsrrs 270000
 Loan from X 50,000 Bear 2,00,000
A i |
v‘Capltal a/c :_ k. - Cash

o1




1201

B 2,00,000

Cc 1,00,000 500,000

8 , .

, 10,40,000

The assets realised as follows :

e @ P a8

e U e,

First.realisation 7z 385000
e AN
~ Second realisation 7 ?';1,.45,000
Frelicisdl |
Third Realisation 7 3,00,000

, u The realisation expenses Were estimated to be
7 32,000 but actual expenditure were % 30,000.

At the time of dissolution there was a conting'ent\

liability of I 30,000 against the firm which was

sett_led at ¥ 25,000 at the time of second
realisation. Distribute the cash as and when
 realised in the safest manner. 0

25 - PTO.

<t
C
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aget B o H 32,000 % 1 GAA o1 Y

. g @@ 30,000 ¥ F 1 TH SRR T
30,000 % B € BT gErd aEH H T 25,000 ?
maﬂﬁmwn‘qﬁaﬁaﬁ@aﬂ%ﬁa@al _
gﬁﬁﬁ%ﬂaﬁiﬁsgﬁﬁﬁrafﬁéikaa?a%imqaﬁﬁw <
% feeer B » ‘ = |

04 - 8400




